Spatial Reasoning Description

This test consists of patterns which can be folded into figures. To the right of each pattern there are four figures. You are to decide which
one of these figures can be made from the pattern shown. The pattern always shows the outside of the figure. Here is an example:

Example X.

In Example X, which one of the four figures- A, B, C, D- can be made from the pattern at the left? A and B certainly cannot be made; they
are not the right shape. C is the correct both in shape and size. You cannot make D from this pattern.

Example Y.




In example Y all the figures next to the pattern are correct in shape, but only one of them can be made from this pattern. Note that when
the pattern is folded, the figure it makes will have three gray surfaces. Two of these will be the largest surfaces, either of which could be
the top or the bottom of a box. The other will be one of the smallest surfaces, which would be one end of the box.

Now look at the four figures:

Figure A is wrong. The long, narrow side is not gray in the pattern and the largest surface must be gray.

Figure B is wrong. The largest surface must be gray, although the gray end could be at the back.

Figure C is wrong. The gray top and end are all right, but there is no long gray side in the pattern.

Figure D is correct. A large gray surface is shown as the top, and the end surface shown is also gray.

So, you see, all four figures are correct in shape, but only one-D-shows the gray surfaces correctly.



